2007

70
53
0 48 3 0 16
49 0 4 0 21
4 5 16
45 0
0 1
8 0
0 0
7 7
5 |4 | 3 | 2 | 1 | 0
A
1 448 054 50.0 48.1 19 0.0 0.0 0.0 52 1
2 440 0.63 48.1 442 7.7 0.0 0.0 0.0 52 1
3 413 0.86 36.5 46.2 135 19 19 0.0 52 1
B
4 4.08 0.88 37.3 39.2 176 59 0.0 0.0 51 2
5 3.79 091 231 404 30.8 38 19 0.0 52 1
6 4.04 0.85 327 442 17.3 58 0.0 0.0 52 1
7 4.00 093 34.6 231 26.9 38 0.0 115 52 1
8 ( ) 4.04 091 37.3 216 29.4 2.0 0.0 9.8 51 2
9 ) 394 0.87 30.6 36.7 28.6 41 0.0 0.0 49 4
10 3 1 429 118 5.8 231 69.2 0.0 0.0 19 52 1
11 3 1 4.08 114 38 346 57.7 38 0.0 0.0 52 1
12 414 074 35.3 431 216 0.0 0.0 0.0 51 2
13 421 079 44.2 327 231 0.0 0.0 0.0 52 1
14 421 077 423 365 212 0.0 0.0 0.0 52 1
C
15 3.88 0.82 231 404 26.9 38 0.0 58 52 1
16 3.98 112 44.2 231 231 58 38 0.0 52 1
17 377 091 212 26.9 288 58 0.0 17.3 52 1
18 3.65 094 212 115 404 38 0.0 231 52 1
19 398 083 28.8 423 231 38 0.0 19 52 1
20 410 079 34.6 423 212 19 0.0 0.0 52 1
D
21 412 087 385 404 154 58 0.0 0.0 52 1
22 346 122 26.9 212 288 17.3 5.8 0.0 52 1
23 394 083 288 365 30.8 19 0.0 19 52 1
24 398 087 327 365 26.9 38 0.0 0.0 52 1
25 433 0.70 46.2 404 135 0.0 0.0 0.0 52 1
26 421 077 404 42.3 154 19 0.0 0.0 52 1
27 4.02 084 34.6 346 28.8 19 0.0 0.0 52 1
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